
English 3201							Name: ________________________

Wasps’ Nest (Quest text page 299)
A classic mystery story written by Agatha Christie, AKA the Queen of Crime. 

Mystery stories:
· Build suspense
· Engage readers with a mystery, crime or puzzle that needs to be solved
· Leave gaps in the story that the reader has to fill in
· Use foreshadowing - hints the author gives readers about what it going to happen
· Give clues about the mystery, sometimes obvious, sometimes subtle
· Have red herrings, that is, false suspect(s) meant to lead readers to the wrong conclusion
· Have a reveal or twist in which the mystery, crime, or puzzle is solved.
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Complete the following questions after reading the story.

1. Which point of view is used to tell the story?
a. First person
b. Second person
c. Third person limited
d. Third person omniscient

2. What do we learn about John Harrison’s current situation from his description in the first paragraph?
a. He’s an avid gardener
b. He’s extremely wealthy
c. He’s led a hard life
d. He’s unusually happy

3. What mood is developed in the second paragraph?
a. Calm
b. Expectant
c. Lonely
d. Suspenseful

4. In the second paragraph, the line, “The rambler roses were still beautiful; sweet peas scented the air” is an example of this literary device.
a. Foreshadowing
b. Imagery
c. Metaphor
d. Simile

5. What is Harrison’s initial reaction to discovering his unexpected visitor is Monsieur Poirot?
a. Fake happiness
b. Genuine happiness
c. Hidden fear
d. Sudden doubt

6. Who was Miss Molly Deane engaged to first?
a. Claude Langdon
b. John Harrison
c. Monsieur Poirot
d. The chemist in Barchester

7. The story Poirot shares about once knowing a pickpocket is an example of this.
a. Allegory
b. Allusion
c. Anecdote
d. Flashback

8. Identify two motives behind Hercule Poirot’s visit to John Harrison.  How do these motives help develop/reveal the detective’s character? (6 marks)
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9. Explain the significance of the title, making reference to both its literal and symbolic meaning. (6 marks)




10. What moral lessons does the author deliver in this story? Through which character does she deliver these messages? (6 marks)
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2.Reading for Meaning Differentiate between the literary devices of symbol and motif. What
common mystery motifs are used in this story? What symbols e used and to what effect?

« Infliterature, a symbol is an object that represents or signifies something other
than itself, while a motif is an image, idea, or symbol that is repeated to help
create and reinforce a mood or theme.
+ Students may identify the following symbols in “Wasps’ Nest"s
~ wasps—represent unsuspecting victims going about their business unaware
they are about to be destroyed; Poirot makes this connection, implying
outwardly that Harrison is like the wasps while secretly knowing that Langton
is actually the unwitting victim

- wasps’ nest—represents trouble; it is the pretense for Langton coming to
Harrison's house; Langton is meant to take it from Harrison's garden but in
the end he does not.

+ Students may identify traps and the idea of the trapper becoming the trapped
as a motif in this story. Harrison believes he has set up the perfect trap for
Langton by staging his suicide to appear as a murder while Langton is in his
garden to trap the wasps. Having figured out Harrison's plot, Poirot springs
the trap Harrison set by replacing the poison in his pocket with a harmless
substance. In doing so, Poirot ensures that Langton avoids the trap and also
that Harrison is not trapped by an action he will regret.
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3. Understanding Form and style
2)In her 70 books, Agatha Christie used several standard plot devices to mislead readers about
the real murderer. Analyze the specific devices she used in this story.

« A plot device is an object, character, or concept introduced into the story to
advance the plot. Students may identify any of the following plot devices used to
mislead the reader:
~ false clues—these point to Langton as the killer, including his signing for
poison at the chemist’s shop, and his being the jilted lover of Harrison's fiancée

~ least likely suspect—Poirot warns Harrison that there is about to be a murder
and implies that Harrison is the target, setting him up as the least likely suspect

~ chance remarks—Poirot, Harrison, and Langton had attended a dinner party
where poison and wasps’ nests were discussed, and Poirot recalls that Langton
claimed he would never use cyanide of potassium

~ unlikely coincidences—Poirot had seen Langton and Harrison's fiancée
together; had seen Harrison emerge from a specific doctor's office and knew by
his face hed learned he was dying; had seen a look of hatred on Harrison’s face;
had seen Langton’s signature in the chemist’s book

~ plot twist—Poirot replaced poison in Harrison's pocket with washing soda.




